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This Question Paper consists of 34 questions and 7 printed pages.

TH TRA-T9 | 34 Y99 qAT 7 Afgad U € |

Roll N.O' Co%::[{ 51/ AS/3

ECONOMICS Set| A

( redITTER )
(214)

Day and Date of Examination

iter &1 foq & foien

Signature of Invigilators 1.

Fterent o gEaTer

General Instructions :

1.
2.

51/AS,/3-214-A

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as(those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 51 /AS/3-A on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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ECONOMICS
( 3refomre )
(214)
Time : 3 Hours | [ Maximum Marks : 100
9 : 3 50 ] [ quris : 100
Note : (1) All questions are compulsory.

(2) Marks allotted to each question are indicated against it.

(3)  Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D) and
out of which one is the most appropriate. Select the correct answer and write it
in your answer-book against the number of question.

fder: (1) |ty et €
(2) T U H 3 SHF T T T
() TR I FHIF 18 8 %, T@® I H IR d&feus W (A), (B), (Q)
3R (D) few T ¥ o @ U T 1 waifus Sfed ¥ @E SR g qen et S

et § 36 U9 wAiS & 9 fafeu )

1.  Which one of the following is a non economic want ? 1
(A) Air (B) Mobile phone (C)  Television (D) Car
freferfiad & @ =H-6 T R-anfds eyl § 7
(A) 99 (B) WSS B (C) efifersr (D) R

2. Which one out of the following, is not a feature of a capitalist economy ? 1

(A) Profit Motive
(B) Absence of government interference
(C) Collective ownership of means of production

(D) Freedom of Enterprise
frefafad & 9 SH-F T oarst steferawen i fogoa T& ¢ ?
(A) 9 F YA

(B) H{HNI TEI&T I A9

(C) 3IIEH o WYl o1 Ffgeh Tfhe

(D) 3TH ! Td=dl

W
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3.  An economic system which combines government planning with the free market 1
economy, is called :
(A) Capitalism (B) Socialism
(C) Mixed Economic System (D) None of the above
T Ut o7l gomelt S Tt FieT ol Ta=1 SR stefereee | Sied! ©, Feamd ©
(A) Tsfa= (B) HHMETE
(C) Tafga smfdfer gomett (D) ST § ®1E Tl
4.  Kendriya Bhandar is a production unit in the form of : 1
(A) Corporation (B) Private Non-Profit Organization
(C) Co-Operative Society (D) Partnership
F YUK THF T F TH AT THE ¢
(A) frm (B) TSt TR-anvehRl HTe
(C) weart dffd (D) WEERI
5.  Output per unit of a variable input is : 1
(A) Marginal Product (B) Average Product
(C) Total Product (D) None of the above
gfq ste aferd] AT SedTe, FHEAN ©
(A) HHH 3R (B) 3T\d I
(C) T S (D) Sude H Ig T
6. Needle and thread are examples of : 1
(A) Complementary goods (B) Substitute goods
(C) Inferior goods (D) Unrelated goods
TS S YT S SR E
(A) TF T (B) IRl Y
(C) Tigp= squ (D) AHefd T
7. Which one of the following is a variable ? 1
(A) Intelligence level of a boy (B) Bravery
(C) Beauty of a girl (D) Height of students
frfafed 9 | SH-91 T =R Q?
(A) TH ASH H allgh T (B) =gl
(C) T TSH! i Gl (D) faenferi =t S=m
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8.  Which one of the following is a non-renewable resource ? 1

(A) Trees in the forest (B) Fish in the ocean

(C) Coal in the coal-field (D) None of the above

frefafea # | SH-91 T Setwoi weE €2

(A) TAH g (B) ¥z H wofaa

(C) e @H H I (D) 3udE ¥ hig T
9.  Mention two examples of your economic wants in daily life and justify why they are 2

economic wants.

3T fe Sfem § At <) enfefer sTavaeRdistl 1 Seoi@ wifsd den SHifac S fe 9
anfofer sTayaehal i § ?

10. Define an economy. What are the two basis on which it is differentiated ? 2

sreferareen &) giuren S | 9 €1 euR o § fo W stefeereneti # 9e foma S @ 2

11. Distinguish between labour - intensive technology and capital - intensive technology. 2

S & ThIh! T ST e qehreh! B 4 HIfS |

12. If for producing 50 units of a commodity, a total cost of ¥ 1,000 was incurred, out of 2
this, total fixed cost was I 400. Calculate its total variable cost and average cost.

Ife foreft g 1 50 HEAT 1 SARA F F fod T 1,000 F G E TE, THH Fel fEer
ARTA T 400 ot | 3HHT Tt IRt T a SATEd AT Pt TIHT it |

13. Define the law of demand with the help of an hypothetical schedule. 2
Teh ShIeaiTeh ST o1 FeEd § 7 o f7om &y afeen S |

14. On the basis of the following schedule what happens in the given market, when (i) the 2
given price is X 10 (ii) the given price.is< 7.

Price Quantity demanded Quantity supplied

(T /unit) (units) (units)
7 250 150
10 100 300
Frefafad ST o STYR T T o8 & 96 | 1 81 8, 919 (1) & 6 ®ma 10 %, (i) <
T RIIAT 77?2
Hid i e W YR ol AEn
R A ghE)  (3HEAH) (3Tl H)
7 250 150
10 100 300
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15. Explain the ‘medium of exchange’ function of money. 2

a1 & ‘fafma 1 Ao’ &R @ A St |

16. Why a simple bar diagram is called ‘one-dimensional diagram” ? Explain. 2
Tk O3 <ve o &1 ‘e fovtar o=’ =i #ed © 27 99eEd |

17. What are the effects of water pollution ? 2
STt JSUIT % T TS B ¢ 2

18. How can you contribute to sustainable development by “Recycling” ? Give examples 2
from your daily life.

M gIIRIR’ R R faew # ff9 TR AFEH € Wehd &2 A SfTe Sied 9
SeTET0 S |

19. Explain how do wants arise and grow. 4

R o Aavasaen o1 3¢9 IR WOR fg YR e € 2

20. Distinguish between a developed economy and a developing economy. 4

faerfaa qen fammasia stefegewe ¥ 9e wifSu |

21. Explain the Law of Diminishing Marginal Product. 4
T 3ATE 319 199 &1 =me S |
22. Give the meaning of normal goods and inferior goods: Give relevant examples. 4

AW el adn T a¥gell § 98 Hifed | IrEiis. a0 i |

23. Explain any two major demerits of the barter system which led to the need for money. 4
T fafma yomelt & fo=dl 1 g <l w1 =aren Hifsd fS=i4 qg1 i STavashdl &1 54
feam

24. Suppose, you have purchased an auto-rickshaw, which insurance policy will you 4

take ? Explain the process-involved in the insurance policy taken by you.

qH A, ST Teh ARIERT e, TH& fod 319 hiA-Ht <A1 giferdt i 2 379 g ot
T2 mferdt |§ afmfad gfsen =1 =amen S |

25. Define secondary data and mention any two sources of published data. 4

fgdiaer enirel st aRuTen SIS qen YehRIfvrd STiwel & < idl 1 Seeid it |

26. Explain how statistics are always quantitative in nature and are affected by multiplicity =~ 4
of causes.

RS T The THN fh YHR G&ATHE YHid & T 3THF HRON & JIIfad 8 § 2
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Arrange the marks obtained by 25 students in a continuous series taking 10 as the class
interval. (Use exclusive method) :

5 25 80 20 40
9 12 55 7 70
15 2 60 75 48
0 30 45 79 44
10 8§ 50 65 76
25 foenfofai gr1 UTiehl ! 10 1 TR ARt STfdfesel J@a | =afkad wifse | (T9esi
fafy =1 gam i) -

5 25 80 20 40
9 12 55 7 70
15 2 60 75 48
0 30 45 79 44
10 8 50 65 76

Explain the two reasons for the slow growth of per capita income in India.

IRd H gfd At 3 § ot gfg o < SR i =re st |

On the basis of the various Five Year Plans launched by the Government of India, what
in your opinion led to the introduction of Annual Plans from 1966 - 69, 1979-80 and
1990-92. Give reason.

IR TR N 9 T fafve goasig dmisti & SEUR T SA9% Fargar 1966 - 69,
1979-80 T1 1990-92 H Atk AT T STREH i 75 7 HROT o1 |

Explain the role of various agencies around the world in stopping the harmful effects
of resource depletion and other environmental problems.

YAl o TERToT o BIfehRer YHTE qeT 3T TATE0] B FFef-ad THEeT sl sk | fava
T fafis woif=wai &t fient wi 99eed |

Explain the factors responsible for the upward slope of the supply curve.

M =k o S 1 AR A % ford ST e i =M il |

Describe any two factors that have led the service sector to contribute the maximum to
the national income of Indjia.

ol S ! w1 AU FIS Y SRA &1 U o | 91 &5 1 AR sAfaead getl
2l

Explain the role played by.the government in controlling prices of various commodities
in the market.

fafve axgal &t ®mal & FE0 § TR g F9E S At Jfish wt =@ Sid |

How do the NGO's help the aggrieved party in case of seller giving a cold shoulder to
it ?

R TR HiTed Wifed Suie i 39 99 fhd YR Ter™d #3d § odl foshdl 3§ 96 T
FLIAB?
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